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Refer to the following diagram and information and answer Question 21.:

The test scores for 18 students in a Mathematics class are listed below:

86, 81, 79, 71, 58, 87, 52, 71, 87, 87, 93, 64, 94, 81, 76, 98, 94, 68

Wnterval Tally Frequency
51 -60
61170 (A)
71-80
81-90

Bl — 100

Refer to the following diagram and answer questions 25, - 28.:

The diagram below shows a cumulative frequency histogram of the students’ test scores in an

algebra class.
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We also know that:

" The maximum value is 42

* The range is 35

* The median value is 23

" The difference between the median and the upper quartile is 14
* Inter-quartile range is 22

= e=2¢

* the mean value ig 25

Refer to the following information to answer the questions 50, - 52.;

For an experiment there are two identical bottles. Bottle 1 contains 2 green balls and 1 red ball.
Bottle 2 contains 2 red balls.
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Refer to the following information to answer the questions 53. - 55.;

the following table:

siotos | siint [ rona
Under 25 . 10 , 20 ‘ 30
Over2s | 3 | o7 | 80
TOTAL ‘ 13 . g7 ) 60

Refer to the following information to answer the questions 57, - 59.;

for this event for boys in high school is known to possess a normal distribution with a mean of
440 seconds and a standard deviation of 60 seconds, There is a probability that a randomly
selected boy at secondary school can run the mile in less than 302 seconds.

Refer to the following information to answer the questions 60, — 62.;

The tread life of a particular brand of tire is a random variable best described by a normal
distribution with a mean of 60 000 km and a standard deviation of 1 700 km.

Refer to the following information to answer the questions 70. — 4.

Price

F Year ' ®)
2007 1950 000
2008 2092 600
2009 2088 310
2010 2155 090
2012 2 288 390
2014 2 267 870
2014 2373 900_|
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In order to formulate a trend, the following calculations were performed:

Period Price
E Year [ () l ) i g
2007 1 1950000
2008 2 2092 600
2009 3 2088310 {A)
2010 4 2155090
2012 5 2288390 (B)
2014 6 2 267 870
2014 7 2373900
3 (C) 15216160 | 62 686 960 140
Averages (D) 2173737

Refer to the following information to answer the questions 76. & 7 7.:

The following linear trend equation was developed for annual sales from 2005 to 2011 with 2005
being year zero:

~

¥ =500+ 60t

Refer to the following information lo answer question 85.:

You are given the following information on the seasonal-irregulay component values for a
quarterly time series:

Seasonal—lrregular
Quarter Component Values (S:ly)
1 1.23, 1.15, 1.16
2 .86, .89, .83
3 97,.72, .79
4 1.20, 1.138, 1.17
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FORMULAE AND NORMAL DISTRIB UTION TABLE
k=14 3,3log(n) P(E) =1~ P(E)

Page 6 of 7

P(AorB) = P(AUB) = P(A) + P(B)

_ max —min
N k
P(AorB) = P(AUB)
It
M=1+i zfc) = P(A) + P(B) - P(A and B)
P(Aand B) = P(AN B) = P(A) x P(B)
. Xx
=T P(AandB) = P(A N B) = P(B) x P(A|B)
__ Xfx gmXTH
I z
f:fomld y:a+bx
2f b_ny—nJEJ‘/
IR = @, — 0, R
G- a=y-bx
SIQR >
- Xxy —ngy
3 2 VX2 —ne3)(Ty? ~ny?)
SD= [£°__ 3z
n 6 d?
rrank‘_‘]-—"__z—_—
- nm? -1)
s = Lfx — x?
Xf Y =TXSXCx/J
Y=T+S+C+1
Efx?’?md_x—z
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FORMULAE AND NORMAL DISTRIBUTION TABLE

Areas under the normal distribution curve

This table provides the area under normal curve between the mean and the point z standard
deviations above the mean. The corresponding area for deviations below the mean can be
found by symmetry.

E0l (.02 Mk LIRS 105 LT LU ) LR ES .08

0000 00040 00080 0O 0120 00166 00193 00239 o 0275 00319 00359
0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.06836 0.0675 0.0714 0.0753
00795 00832z 00871 0091 00948 00987 01026 01064 0.1103 01141
0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
01554 01591 01628 0 1664 01700 01736 01772 01808 01844 01879
0.1915 0.1950 0.1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2190 0.2224
02257 02291 02324 02357 02389 02422 02434 02 186 02517 02549
0.2580 0.2611 0.2642 0.2673 0.2704 02734 0.2764 0.2794 0.2823 (.2852
02881 0291 02939 02957 02995 03023 03051 03078 03106 03133
0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
03413 03438 03461 03485 03508 03531 0355¢ 0 WTT 03599 0 3621
0.3643 0.3665 0.3686 0.3708 0.3729 0.3749 0.3770 0.3790 0.3810 0.3830
035849 03869 03888 o 3907 03925 03944 03962 o 3980 03997 04015
0.4032 04049 0.4066 0.4082 0.4099 0.4115 04131 0.4147 0.4162 0.4177
04192 04207 041222 01238 04251 042685 04279 04292 04306 04319
0.4332 0.4345 0.4357 0.4370 0.4382 0.4394 0.4406 0.4418 0.4429 0.4441
04452 04463 04474 04181 04495 04505 04515 04525 3.1535 04545
0.4554 0.4564 0.4573 0.4582 0.4591 0.4599 0.4608 0.4616 0.4625 0.4633
04641 04649 01856 0 4664 04671 04678 04686 04693 04693 04706
0.4713 0.4719 04726 0.4732 0.4738 0.4744 0.4750 0.4756 0.4761 0.4767
04772 04778 04783 047 88 041793 04798 04%03 0 1808 01812 04817
0.4821 0.4826 0.4830 0.4834 0.4838 04842 0.4846 0.4850 0.4854 0.4857
04861 04864 04868 0 4871 04875 04878 0488] 0 1884 04887 0 1890
0.4893 0.4896 0.4898 0.4901 0.4904 0.4906 0.4909 04911 0.4913 0.491¢
01918 04920 04922 o 4925 04927 04929 04931 o 1932 04931+ 01936
0.4938 0.4940 0.4941 0.4943 0.4945 0.4946 0.4948 0.4949 0.4951 0.4952
04933 04955 0495 0 4957 04959 04960 04961 0 4962 04963 04964
0.4965 0.4966 0.4967 0.4968 0.4969 0.4970 0.4971 0.4972 0.4973 0.4974
01974 04975 04976 ¢ 1977 04977 04978 04979 ¢ 1979 04950 04931
0.4981 0.4982 0.4982 0.4983 0.4984 0.4984 0.4985 0.4985 0.4986 0.4986
04987 04987 04987 ¢ 1988 04988 04989 04989 ¢ 4989 0.1990 0 4990
0.4990 0.4991 0.4991 0.4991 0.4992 0.4992 0.4992 0.4992 0.4993 0.4993
01393 04993 04994 04994 01994 04994 04991 (4995 04995 04995
0.4995 0.4995 0.4995 0.499¢ 0.4996 0.4996 0.4996 0.499¢ 0.4996 0.4997
04997 04997 01997 0 1997 04997 01997 04997 0 .f9y7 01997 04998




